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The standard kileogram is a platinum-iridium cylinder 32 mm
in height and 19.5 mm in radius. What is the density \
of the material? A}
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Fig (1) shows the welocity ({Vx) of a particle moving
along x axis as a function of time (t). What is the
acceleration of the particle at t= 2.0 =572
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The speed of sound in air is about 350 m/s. Express this
speed in miles per hour {(mi/h}.
(1 mile = 1.61 km)
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A particle moving along the x axis has a position given by
x =(24 t - 2 t**3) meters,

where t is measured in seconds. How far is the particle

from the origin (x=0) when the particle stops moment ar11v7
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In 2.0 seconds, a particle moving with constant acceleration
along the x axis goes from x=10 m to x=50 m. The velocity

at the end of this time interwval is 10 m/s. What is the
acceleration of the particle?
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A stone is thrown downward from height (h) abeowe the ground
with an initial speed of 10 m/s. It strikes the ground "—z
3.0 seconds later. Determine h. T Vo
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